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ENGLISH

I. Read the following sentences and answer the questions that follow. Choose the
right answer and mark it.

1. ‘He said it expanded his lungs’. The antonym of ‘expand’ is
(1) Unfold - " (2) Contract (3) Spread (4) Loosen

2. ‘Didyou get"hp early this morning’ ? What part of speech is the word ‘early’ ?
(1) Adijective (2) Preposition (3) Adverb (4) Verb

3. ‘I kept them quiet for ten minutes’. The antonym of ‘quiet’ is
(1) Noisy (2) Calm (3) Complete (4) Cry

Il. Study the bar graph given below and answer the questions. Choose the right
answer and mark it.

RUNS SCORED BY DECCAN CHARGERS IN THE LAST OVER OF A T20 MATCH

Runs
b
L
]
]
-

t gy

First Second Third Fourth Fifth Sixth
Ball Ball Ball Ball Ball Ball

4. Maximum runs were scored in the
(1) Second ball (2) First ball
(3) Sixth ball (4) Fourth ball
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5.

6.

How many runs were scored in the fifth ball ?
(1) 6 (2) 4 (3) 0 (4) 2

What are t_,he two balls in which the batsmen scored the same runs ?
(1) First and Second balls (2) First and Sixth balls
(3) Third and Fifth balls (4) Second and Third balls

Il. Identify the proper order of the _fbllowing sentences and mark them. (The first and
the last sentences are in the proper order.)

7.

Hi, Cherry, how are you ?
Well, | play a lot of sport.

| like shuttle badminton.

> 0w b=

Hi, Abdul. I'm fine. You look very fit and healthy. What do you do to keep
yourself like this ?

o

What sport do you like the best ?

6. Yes|do.|go running in the morning at least five days a week. Are you interested
in sport too ?

7. Doyou ever go running ?

8. Yes. | like swimming. | swim everyday without fail.
(1) 1,4,2,5,3,7,6,8 (2)1,38,4,6,2,5,7,8
(3) 1,4,5,3,7,2,6,8 (4)1,5,2,3,6,4,7,8

Who is the author of “Mother’s Day : One-Act play” ?

(1) W.R.Inge ' (2) J.B. Priestley

(3) ShivK. Kumar (4) Stephen Leacock
George Orwell's ‘Animal Farm’ is marked by a profound awareness of
(1) Equality (2) Liberty

(3) Social Injustice (4) Fraternity
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10.

1.

12..

13.

14.

15.

16.

17.

18.

19.

20.

The novel ‘Animal Farm’ shows how power corrupts too.
(1) Men (2) Animals (3) Birds (4) Insects

“Then you can sail away be happy”. In which poem does this line appear ?
(1) Equipment (2) The Giving Tree
(3) Harvest Hymn (4) Bullin the City

‘Choose the word that has the same meaning as the expression given below.

“ That which can not be conquered”.

(1) Invisible (2) Infallible (3) Inevitable (4) Invincible
“Lots of assembly-line jobs will Vanish”. The synonym of ‘Vanish’ is

(1) Disappear (2) Appear (3) Found (4) Seen
Identify the part of speech of the underlined word.

“The search became a mania with me”
(1) Adjective (2) Noun (3) Verb (4) Conjunction

Identify the number of syllables in the word “around” (around)
(1) Mono (2) Di (3) Tri (4) Poly

Which letter is stressed in ‘Volunteer’ ?
(1) Vv (2) L ) E 4) T

Identify the silent letter in ‘subtle’.
(1) s (2) b (3) t (4) 1

Find the word that is different from the other words in the group with regard to the
sound of the underlined letters.

(1) Change (2) Character (3) Cheap (4) Chance
Identify the right word for /KJut/
(1) Coat (2) Kute (3) Cute (4) Cote

Supply the missing letters to complete the spelling of the word “Anc — _ tral”.
(1) i, s (2) e, s (3) u,s (4) s, e
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V. Fill in the blanks with suitable answer.

21.

24.

After working so hard he didn't deserve to fail in the exam,

(1) doesn'the? (2) Didhe? (3) Don'the? (4) Ishe?
Yesterdéy at this time all of us (watch) the cricket match.

(1) watched (2) are watching (3) hadwatched (4) were watching
The 6bject is to prevent hirm failing.

(1) for ~(2) from (3) in (4) at

The rose is prettier than flower.

(1) Noother (2) Any other (3) More other (4) Most other
You must cure me this horrible iliness.

(1) of (2) at (3) in (4) for

Each of the boys given a chocolate.

(1) were (2) was (3) has (4) have
There was a man was very greedy.

(1) which (2) when (3) who (4) why

injured were immediately taken to the hospital.
(1) A (2) An (3) The (4) Noarticle

Mark the part of the sentence that has an error.

Sunanda was wearing a pink pretty saree.
1 2 3
(1) 1 (2) 3 (3) Noerror (4) 2

The teacher will come when the bell
(1) Rings (2) Rang (3) Ring (4) Hadrung

Course Code -3 5] (P.T.0)



R 0 0 A

31.

ECONOMICS

From the below, what are the features of ‘Economic Commodity’ ?

(1) Nature given, no price (2) No production cost - no price
(3) Scarcity, price (4) Allthe above

4 800 T8’ es0Y B33 ofeTed

‘(1):_ S5O EIr0B0, 6 GOt (2) iy Syo0 dotsesd, 6 &0t
@) sose” (4) wsty

Which is the ‘wealth’ from the below ?

(1) Money (2) Shares

(3) Land and Buildings (4) Allthe above

53 808 TeIS° 505! 9

(1) &30 (2) eren (3) e, avTeo  (4) pSY

When the total utility increases with decreasing rate, then Marginal Utility ?

(1) Increases (2) Decreases

(3) Constant (4) Increases with decreasing rate
o080 (SATEs0 BKBOR) BeE DEHBORIPED &0 [SATe0

(1) 2M%m08 (2) B0

(3) 3om &otwod (4) B0 368 21HB00D

If, the ‘X’ and ‘Y’ are substitute goods, if the price of the ‘X’ decreases, then the
demand for Y’

(1) Decreases (2) Increases

(3) Constant (4) None of the above
X' 508010 ‘Y’ e EErEmOid $hgPeo eod X' 6 SRS Y &30l
(1) &5B000 (2) wMB000 (3) 0 (4) 3 5%
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35. The demand curve with perfect elasticity will be

(1) Leftto right downward sloping (2) Leftto right upward sloping
(3) Parallel to ‘X’ axis (4) Parallel to Y’ axis
POYG TE B0 Ko &0l B

(1) 2655 5008 HAS GBS T éotwod (2) ¢ 5008 HAE pETD dotood
(3) X ezl Sarosso (4) Y erxpRd Sdrotto

36. If the demand curve is v\}it_h ‘Rectangular Hyperbola’ shape, then the elasticity of
demand is an equal to

(1) 1 (2 >1 (3) 0 (4) <1
A570E B9 ‘00w OFSTHOAD0’ e57E08” ey Gl TS o
(1) %38 5550 (2) 253 %083 d5
(3) #rdp (4) exe3ss BK)D

37. The ‘Budget Line’ is also known as
(1) Price Line (2) ProfitLine (3) LifeLine (4) Property Line
‘2355 O’ £ 30522 ’
(1) ¢sd» (2) owode (3) 253 (4) ehoe

38. The consumer will be in equilibrium position, when the
(1) Budget line condemns the indifference curve
(2) Budget line is tangent to the indifference curve
(3) Budget line is above to indifference curve
(4) Budget line is below to indifference curve
54308 ¥06508" DIDPAEEL 330Fes" doerdd
(1) 2ge5ds amrbs g0 PoGoDIPED
(2) ©ge5Bp aohiss SEBR0 YOPAT SRHAD
(3) 25e5cp &bt HESPH MO &P

(4) 25eSdp amrhsn SEpLH BIOSS SN
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39. The relation between the inputs and output is known as

(1) Production Function (2) Price Function
(3) Trade Function (4) Utility Function
A8 Ei8)G TS0 B30l BOROLIo D0 ?
(1) aodoo (2) soeo

' '(3) Telegpoo | - (4) AT $o0

a.

In perfect competition the Marginal Revenue (M R)is
(1) Equalto Average Revenue (AR) (2) Morethan AR

(3) Lessthan AR (4) Less than price
oy A& adod oad

(1) 5ne oreadid S0 (2) e ool o83 Jo)S
(3) e Trexd S0 8D (4) ¢S85

‘Selling costs’ is the specific feature of the following market

(1) Perfect competition (2) Monopoly
(3) Monopolistic competition (4) Oligopoly
e Sie dod 50D E8S oo

(1) Sogrg e (2) Ssysop

(3) Desdrgios el (4) S0BYSoe
‘Duopoly’ means

(1) Only two firms (2) Limited firms
(3) Large number of firms (4) No firm

‘BT RSB0’ N

(1) 30 exsoSorrtoe (2) 20208 exySorrtie
(3) 5 omy' esiySorneives (4) oo socsy
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43. According to the Marginal Productivity Theory of Distribution, the price of any
factor of production depends upon its

(1) Marginal Productivity (2) Average Productivity

(3) Total Production (4) Average Revenue

OB ETSE Soes BETOBO 5750 2.8 &ty S¥0 oY), (55 B (0B TP TR0
(1) &yos ST - (2) new aomesss

(3) ’:mgo &S . - (4) srevoad

44. ‘The Classical Theory of Rent’ was put forward by

(1) Henry Carey (2) David Ricardo
(3) Briggs (4) Jordan
SOSTRO e7exE BEPOBO’ 5> BOSO
(1) wesd (2) ax&osg
(3) @h (4) &S
45. National Income when divided by total population of nation is known as
(1) Percapita Income (2) Personal Income
(3) Disposable Income (4) None of the above
SATTA00 BF e grhosme 5o
(1) B30 esoraXro (2) sgyesoravo
(3) 5000 esmao (4) P

46. InIndia, National Income is estimated by
(1) Central Statistical Organisation ~ (2) Reserve Bank of India

(3) Finance Commission (4) Planning Commission
FEBDH0S’ ePSAOHTONOR SOST DAHOSE

(1) BogHerosisoy (2) arsdan Bextis ero®
(3) eQxos0 (4) @emd8S00
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47. “Supply creates its own demand” was proposed by whom ?

(1) Karl Marx (2) J.M. Keynes
(3) J.B.Say (4) J.R. Hicks
5500 BIHTH0 AZPOES> HREBEE0E08" B ESTBOIHE IS ?
(1) =636y, (2) 20545
Q) 2.8.% et (4) & 6. 255,

48. ‘Effective Demand’ means
(1) Aggregate Demand = Aggregate Supply
(2) Aggregate Demand > Aggregate Supply
(3) Aggregate Demand < Aggregate Supply
(4) None of the above

IS srol e
(1) 3WHE3rob =P udow (2) S dsTol > P IZow
(3) WY dsrol < P HZow (4) Pz
49. ‘The double coincidence of wants’ is the necessary condition to run the following
system.
(1) Barter system (2) Metallic money system
(3) Paper money system (4) Plastic money system
5707, SRS B0H5000" @00 $oB Bg5R BEDTIS B0 558
(1) 323703 5559 (2) &' 55 3553
(3) 5 o0 D659 (4) %S 550 9553

50. Which of the following is the controller of credit in India ?
(1) State Bank of India (SBI)
(2) Reserve Bank of India (RBI)
(3) Bank of Credit (B.C.)
(4) NABARD
GPSBH0S" DS Daboghes’ DAHHD

(1) SBI (2) RBI (3) B.C. (4) NABARD
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52.

Economic development includes

(1) Increase in production

(2) Eradication of absolute poverty

(3) Reduction in unemployment level

(4) Allthe above N

e05D5)08° §0d 0¥0)/ ©0T03 oerox

(1) &586° oo (2) D855 es0508 Brcse
(3) AeoBigio Joxs’ srese (4) B8

From the below, which is not the characteristic feature of developing countries ?
(1) Scarcity of capital (2) Predominance of agriculture

(38) High incidence of poverty (4) High per capita income

82 $0D eI’ 0D Doy BT oo 508 2

(1) 853 Soresso (2) Sgsran (A

(3) x5 25680 (4) ©6% 8050 esorao

India’s ‘Economic Reforms’ includes
(1) Liberalised industrial licencing policy
(2) Removal of restrictions on Foreign Investment

(3) Providing more space to private sector
(4) Allthe above

50D €508 oK), Sesen DA &% y—
(1) 828 oo ssdee

(2) 238 Beyecio p eofe Fonoy

(3) oxBex sorrdd 15 b

(4) 2%
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57.

From the below, which is not the feature of globalization ?
(1) Imposing restrictions on the movement of labour between the countries

7(2) 2 Pe_r_rnitting free flow of technology between the countries

(3)' Permitﬁng free flow of goods among the Nations

(4) Permitting free flow of services among Nation States
52 BT Qf’.aof)gd\n 0§60 58

(1) &z M‘SS’@%@ 55905 2 es0ge0 G060

(2) Bamo $50¢5; 03D S0ezido BEDOYHRO BHAOHE0

(3) Baro 50655 5990 BEDOYHRL eSS0

(4) Taro 50655 Do BEDOYRL eR0BOB0W0

The United Nations Development Programme (UNDP) has prepared its first Human
Development Report under the stewardship of

(1) Prof. AKK. Sen (2) Prof. Mohbub-ul-Haq

(3) Prof. Mansoor Ahmed (4) Prof. M.S. Ahluwalia

D50 TALE0E” DETERAS HID S0 S5 00¢5ed SPSTHHG JPIN0 BOXFEO BHod ?
(1) eot53.28 (2) sogyorard-ad-f

(3) emggoRmbend (4) sTt5%0. . eSvTdarr

As per 2011 Census, the female literacy rate in India
2011 e5ey 88,0 (55760 aTEBG¥0E" o SFTS5H TH0 ?
(1) 74.04 (2) 82.14 (3) 65.46 (4) 16.68

The share of the primary sector in India’s National Income

(1) Hasbeen declining (2) Has been increasing

(3) Has been constant (4) Increasing with increasing rate
aPEB0E 2POATTrO00S” (RS Solo T

(1) &Soore dHEH0 (2) &S00 VEKBIHD

(3) Ddoxr&nd (4) 2MBO8) BeS® WEKBOD
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58.

59.

61.

Mahatma Gandhi National Rural Employment Guarantee Scheme was launched in
the year

SO b e a0 37 5650 Soaisoons Sostto
(1) 1976 (2) 1999 (3) 2006 (4) 2012

The Iar'Qes_; employment p‘roviding sectorin India is

(1) Agriculture (2) Industry

(3) Services (4) Handloom industry
ETOBRI0E" D35 B Syxgy Soio

(1) 3o (2) soEsoes

(3) “Seo (4) 330 s

Among the following crops, which is the highest yielding crop in India ?

(1) Rice (2) Wheat (3) Pulses (4) Maize
FOBDI0E" D05 emmesssino 53 Soe
(1) =8 (2) Aeoso (3) SSPTGed (4) 005,87

From the below, which is not the cause for the low productivity in agriculture
in India

- (1) Poortechniques of production

(2) Dependence on rainfall and monsoons

(3) Low irrigation facilities |

(4) The large size of land holdings

B LoD TS 180 08" ST ST B ST S0 5600 S8
(1) sepddasny SEBoeD (2) soos sEdrato

(3) 8% dedFeocse oo (4) ¢ ssomen
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62. Abolition of Intermediaries, Tenancy Reforms and Ceiling on land holdings are part

of
(1): Green Revolution (2) Land Reforms
(3) Economic Reforms (4) Globalization

- 55555t FONo, Teo Som),Gee, g SO IO DK @0 O wo¥cd g0 ?
(1) o880 (2 ersogme  (3) epsRemSme (4) Eedwe

63. NABARD was set up in the year

NABARD (7er) i 200 Sodgto
(1) 1972 (2) 1982 (3) 1990 (4) 1935
64. Industrial Policy Resolution which is known as New Industrial Policy was spelt out
in the year
S5 O IO’ T DewsSeiotiorsy TOFE I S50 Jped JT0 2
(1) 1948 (2) 1956 (3) 1977 (4) 1991

65. From the below which is not correctly matched
B0 T3S’ BT BBSGHRESE
(1) 1948—IFCI  (2) 1951-ICICI ~ (3) 1964 —-1DBI  (4) 1990-SIDBI

66. Service sector includes

(1) Trade (2) Hotels (3) Banking (4) Allthe above
2o 36" b Sofo 5006 SHB/S9)D
(1) =grso (2) Feey (3) erpotoen (4) s

67. In which five year plan the term ‘Inclusive Growth’ was used first time ?
(1) First (2) Fifth (38) Tenth (4) Eleventh
oI B 505 HeTES® SR8’ S0 aSAFRoBREod ?

(1) Doocsed (2) eoxss (3) =es (4) &8 oS
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70.

In Andhra Pradesh State, Balanced Regional Development became one of important
objectives from the

(1) First five year plan onwards (2) Second five year plan onwards

(3) Third five yeér plan onwards (4) Fourth five year plan onwards
SoEEBTTP06" D 5055 SErOE Sood HoBode OSATPID BT oF5es’ e8I 5108 ?
(1) 20563 (2) ocs (3) sress (4) s

From the below, which are the sources of Air Pollution ?
(1) Vehicular emissions, nuclear tests
(2) Deforestation, mining

(3) Burning of fire woods, industrialization

(4) Allthe above

&2 S0 T3S o S8 S0 exiiog)

(1) 5o 368 Sre, erw Hgeo (2) esHo 50838, pIero 208855
(3) sgoso o0, Jogddsoe (4) 25

“Meeting the needs of the present without compromising the ability of the future
generation to meet their own needs” is known as

(1) Sustainable Development (2) Balanced Development

(3) Human Development | (4) Inclusive Development

P BO0 VBITOR0 NG &0 8 B0 e5:50me8 S5)erd B3 SO DEoFH 7
(1) SSThosrdR ednd (2) SoBods 030

(3) srsding (4) 52090 0B5)8
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74.

MATHEMATICS

If f(x) = cos’ “3'“4" ¥V xe R, then f(2012) =
sm X+COS X

f(x) = COS® X+ 8IN' X /) R s’ (2012) =
sm X+‘COS X

(1) 1 (2) -1 (3) O (4) 2

If f:R—R,g:R— R defined by f(x) = 3x - 2, g(x) = x* + 1 then (gof )(2)

f:R— R, g:R —Ressf(x) = 3x— 2, g(x) = X2 + 1 2559% (gof ) (2) =

- 25 9 -9
(1 =2 @ %5 @ 55 @ 32

S =13+22+3+..n T =1 +2+3+...nthen
S =13+22+3+... ne, T, =1+2+3+...N wond oiH

(1) §,=3T, (2) S =2T,
3) S =T2 4 S =T2
1 2 3 8]
A=L3 4l =17 o and2X+A=BThenX=
1 2 3 8]
A=L3 4]'B=L7 5 5800 2X + A=Beond X =
-1 3 [1 -3
") [—2 1] S —1}
1 3 1 3
@) 1o 4 () 2 -1
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75. IfA=[1 1 1/[thenRank (A) = e
111 B
111
A=(1 11 ©od 5% (A) =
111
(1) 0 (@) 1 (3) 2 @) 3

76. i-2j,3j+kand Aj= 3j are coplanar then ) =
I =2j, 3] + K 38050 Ai = 3j ev 58daxres wand ) =
-3

1

(1) 1 @ 5 (3 - (4) 2

77. |If goee +an9° =cotk, thenk =
C0s9°-sin9°

Cc0s9° + s.|n9° = Ot k et k =

C0s9° —sin9°

(1) 36° (2) 30° (3) 45° (4) 75°
78. If sin™ [1—2- )+ sin™’ [E J = E, then x = (x>0)

X Xx) 2
sin™’ (EJ+ sin™’ (§]=£ SaBX = (x>0)
X iy &

(1) 12 (2) 13 (3) 14 (4) 15
79. Iflog (5 + [26) = sin h-'(k), then k =

log (5 + [26) = sin h'(k) scwsd k =

(1) 2 (2) 3 (3) 6 (4) 5 P
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81.

82.

Ifa=26,b=30,cosc=%,thenc=

a=_26,b=30.qqsc=§@o.néc=

(1 7 | (2) 8 3) 6 (4) 9

The 'équétio_npf locus of p, if the distance of p from the origin is twice the distance
of pfrom A(1,2) =

P 55 Dot 008 Sur7e DoEIHH Ko 85w, P $50& A(1, 2) Dot Mo SroPdd BedoHos
P o536 HaAEBEID

(1) 3x?+3y>—-8x—16y+20=0 (2) 3x2+3y?+8x—16y+20=0

(3) 3x*+3y?-8x—16y—-20=0 (4) 3x>+3y*—-8x+16y—-20=0

The distance between the parallel straight lines 3x + 4y -3=0and6x+8y—1=0
is

3X + 4y — 3 = 0 50000 6X + 8y — 1 = 0 3577088 Do 30655 850

-3 3
1 5 @ @ @ ~%

The image of (1, —2) w.r.t the straight line2x -3y +5=0is

2x =3y + 5 = 03609 &syk 5 (1, —2) By, ©SDowS»
(1) (=3,4) (2) 3,-4) (3) (3,4) (4) (-3,-4)

XZ plane devides the line segment joining the points A (-2, 3,4)and B (1, 2, 3) in
the ratio
A (-2, 3, 4) 208010 B (1,2, 3) Dotioess B Ber porh XZ oo Jeod AyS =

(1) -3:2 2) 3:-2 3) 3:2 4) 2:3

The angle between the planes 2x-y+z=6andx+y+2z=7is
2X =Y +Z =6 50000 X + Y + 22 = 7 $ore 50455 80

™) & @ ® % @ o
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. COs ax — cos bx
86. Lim 3 - )

X-50 X
af-b? T ipr_pe a? + b?
M = @ —; @) =, (4) 0
Lim e* —sinx — 1
87. o TR
(1) 1 (2 o () 2 (4) -1
88. The derivative of Tan™ (1—2)(—2 ] when |x|<1 is
-X
IX|<1 sossyes Tan™ ( 1 = 5 )o'mgb TS50
2 -2 -2
(1) 1+ x2 (2) 1_ x2 (3) 1+ x2 (4) 1_ x2
89. Ify =ae™+be™ then y” is
y=ae™ +be™ wond y'= o
(1) n?%y (2) —n%y (3) ny? (4) —ny?

90. The slope of the normal to the curve x = a(6 —sing) y =a(1 -coso)

T
ato=—j
t > is
x=2a(6 -sing),y=a(1 —C0S Q) 55728 e=g 3¢ @doocedy Toew =
1
(1) 0 (2 1 (3) -1 4 75
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o +B2 .
91. If o, B are the roots of ax2 + bx + ¢ =0, ¢ # 0 then atip? is
e 0,.2 +B2
ax®*+bx+c=0, ¢ # 0 525528 B oo Soreren eos T 1B
- g2 . “ c? —a2 —c?
(1) &= (@ = @ — 4 —
92. (1+1)'%=2%(x +iy), then x2 + y2 =
(1 +10)190=2% (x +iy), wod x2 + y2 =
(1) 2 (2) 1 (3) 3 (4) 4

93. If1,-2 and 3 are the rootsof x*-2x2+ax+6=0thena=
X2—2x2+ax+6 =02 50reren 1, —2 508050 3 wond a =

(1) 5 (2) 4 ) -5 (4) 2

94. The number of ways of arranging the letters of the word MATHEMATICS is

MATHEMATICS 36506% ergorers ess) dgmmre sowg

(I ! (I Y
) 33 (@) 2!(3!4! @) 34 @) 222

95. Number of terms in the expansion of (2x + 3y +2)is
(2 + 3y + 2)7 23656:6% e Nogs

(1) 78 (2) 87 (3) 36 (4) 67
3X+7 -10 K
" XT-3x+2 x—1 x—gz thenks=
3x+7 -10 K
XZ_3x+2 x-1 x_p w®K=
(1) 1 (2) 12 (3) 13 (4) 14
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97. If nc, = nc,, then 13c, =

100.

101.

NC; = NCq, ©oxd 13¢, =

(1) 78 (2 87 (3) 76 (4) 67

The probability of a non-leap year containing 53 Sundays is
L) mq)&o 9 5038,506°53 esrorencd Sogrgs

2
M 5 @ 2

N w

4
3) @ >

The mean and variance of a binomial variable X are 2.4 and1.44thennis
556 Jeresiso X & Sogsgioson 2.4 Sodaxe I8 1.44 eaxdn

(1) 4 (2 2 (3) 6 (4) 5

A Poisson variable satisfies P(x=1)=p(x =2) then pP(x=5) =
Xa.s’ﬁmwaw&p(x: 1)=p(x=2)60»6 p(x=5) =

e—2 25 e-2 52
m 2 @ =

e2 25 2 52
® =5 @ e 5

If the points (2, 0), (0, 1), (4,0) and (0, k) are concyclic then k is
(2,0), (0, 1), (4, 0) s08ax0 (0, k) Docsopen Sdareocnd k
(1) 4 2 6
(3 8 4) 2
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102.

103.

104.

105.

X2 +y?+4x+8=0,x2+y2— 16y + k = 0 circles are orthogonal then k =

X2+y2+4x+8=0,x2+y2—16y+k=0a:c>oa>bq)a_:weoowék=

M-8 @8 (3) 6 (4) 7

The position of"tpe point (2, 3) with respect to the parabola y? = 6x is
(1) Inside the parabola (2) Outside the parabola

(38) Onthe parabola (4) None of these

y? = 6x Soseato &yXs (2, 3) Doy o
(1) Soseated eossom (2) Sodeatrds erson
(3) sSorsearo e (4) S8

2 2
The eccentricity of the ellipse :‘—6 + 19- =¥8

xz y2
= 3 =13 88 S5yz0s él_ébopé

16

7
(M 3 (2) %
(3) —-‘?— @ 7

If 3x — 4y + k = 0 is a tangent to x2 — 4y? = 5 then k is
x2—4y2=5e9e‘.'a:ac-::ooﬁv:>§3x—4y+k=0:q)daaawonék
(1) £2 (2) +3 (3) +4 (4) £5
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106.

107.

108.

109.

110.

[e” (1+x):ogx] dx on (0, <)

(1) e*logx+c . (2) .esecx+c (8) e*logx+c  (4) None ofthese

‘T 2x dx
21+ x2 s
(1) log2 (2) log3 (3) log4 (4) log5
4
Tlog(1+tanx)dx iS
0
T n T -
—log 2 —log 2 —log2 —log 2
(1) 3log (2) 7log (3) glog (4) —-log
The area bounded by the parabola y = x?, the x — axis and the lines x = -1,

x=2is
Y = X* 30500080 X — efo X = ~1, X = 2 Sposte 503308 (¥ prop
(1) 1 (2) 2 (3) 3 (4) 4

Fy (ay V]
Orderanddeg'eeot[ y (y)J =6y is

dx® | dx
3 |/5
[g:y (gﬂ]y:Gym-m,wm
(1) 2,3 (2 3,2 (3) 1,2 4) 2,1
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COMMERCE -1

111. The main objective of business is

(1) Toearnprofit (2) Toincrease sales revenue

(3) Torender services (4) None of the above

TT0 00K, Boows EQO

(1) owgs - ) i (2) oS BoFoBoiio

(3) en daeso- : (4) PR=P
112. The following Industry is called Extractive Industry

(1) Poultry (2) Mining (3) Fertilizers (4) Insurance

B3 808 Te3E° 2.8 SOFSD GG HOEFS0 ) DO

(1) SHosso (2) 2R (3) g2 (4) 330
113. The liability of the shareholder is

(1) Limited (2) Limited by guarantee

(3) Unlimited (4) None of the above

TTTEO) G0, BERT D

(1) S60BHD (2) =50 os% 3080 (3) eS0BO (4) P3¢
114. The motto of “All for one and one for all” , which organisation follows

(1) Sole Trading Concern (2) Partnership Firm

(3) Joint Hindu Family Business (4) Co-operative Society

2,50 §%30 90058, ©0¢50 §%50 2860 350 ATEB0 D 05 SRR ?

(1) Aodrosw (2) arnssog s

(3) &858 Srodsom 0w TEEE0 (4) S8 Sogen
115. There should be a maximum of members in a Private Limited

Company as per Indian Companies Act.

(1) 50 (2) 20 . (3) 100 (4) No Limit

&708 oo B30 500 (i3S BROE oIE* 103 Sevy Sows

(1) 50 (2) 20 (3) 100 (4) ex0BR0
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116.

A partner who does not share the profits and losses of the firm and is not liable for
the debits of the firm is known as

(1) Minor partner (2) Partner in profits only
(3) Quasi partner (4) Partner by holding out

505 o8, o-af%-oé‘wm 5800 300010 0 ey s Strossor dod erud?

(1) 3Barenes (2 owodornns  (3) sToomus  (4) S T

117. Business does NOT include

(1) Agriculture (2) Commerce (3) Industry (4) Services

TrOS08° 54 800 TeIE* D eowsn DA o 2

(1) Spsdmoo (2) Tedeso (3) sewss (4) ‘=>oio
118. Total and undivided risk is the main feature of

(1) Partnership (2) Sole Proprietorship

(3) Joint Stock Company (4) Co-operative Society

S0Fo DRI DG o3 A, S0 50 B4 God TIEH THI O &0e0B ?

(1) ey (2) ovmrosoyg

(3) =raoeS Y€ sodens (4) sysos0yp
119. In which year the Co-operative Movement was started in England ?

(1) 1944 (2) 1935

(3) 1844 (4) None of the above

M05E" D S0SB0E" SIS 6055570y SR 2

(1) 1944 (2) 1935 (3) 1844 (4) 2=y
120. In which year Indian Companies Act was formulated ?

EPOE 50230 1560 O H058y55038° SrFoBosedss 7

(1) 1932 (2) 1946 ' (3) 1956 (4) 1936
121. Investment in which of the following is most risky ?

(1) Equity shares (2) Preference shares

(3) Debentures (4) Fixed deposits

B (800 Deyexd I¢sBved® Sgeane AI6° 51T &0é08 ?

(1) sedderes  (2) RGP Twe  (3) ddonep (4) 33E admwex
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122.

123.

124.

125.

Which document contains the fundamental rules regarding the Constitution and
activities of a company ?

(1) Articles of Association (2) Certificate of Incorporation
(3).-Memorandum of Association (4) None of the above

02D ok, TEROISBD Ko0fod EE JIEes So0AK S0 TS RTess J Ho
BOANBE00 ?

(1) Jososd . (2) SresBo (3) moysssB  (4) PPOTH
The following is not a merit of co-operative society

(1) Easy formation (2) Service to its members
(3) Unlimited liability (4) Stability

51800 TIE" SIS D0 G0, (AT SO

(1) % Tree dovgio (2) 200 o6 e

(3) 5008 woes erGsd (4) o0

The holders of these are the creditors of the company

(1) Equity shareholders (2) Preference Shareholders
(3) Debentureholders (4) None of the above
Eownd® D exverTtien

(1) BededTerotoo (2) ep%yTeroon

(3) Aadousoen (4) =P

In which states the School of Hindu Law is prevailed Mitakshari conditions ?
(1) Assam and West Bengal

(2) Andhra Pradesh and Arunachal Pradesh

(3) Haryana and Punjab

(4) Except Assam and West Bengal in all other states

0% B¥08" D Trgod” oS eDeT ££00050 W), DEED Jwodven @:50008° &INoD ?
(1) @0 Sobaxn HBys Borrd

(2) o EBF So0a% TS 0T

(3) Troogo S8 Soered

(4) ey S000%0 38y Borrd Tafos’ 63 oier o Tpos”
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126.

127.

128.

129.

130.

The document governing the internal rules and regulations of a company is called

(1) Memorandum of Association (2) Articles of Association

(3) Prospectus (4) Certificate of Incorporation

500 Bg56" S FADTTO AFTEH eSS DAV D050 S0P,

(1) SoyssI@sn  (2) Dovsrs (3) 5830 Swo (4) Sdreo Sgo

The goods-which are manufactured in other countries and purchased for

consumption in‘India it is known as

(1) ExportTrade ' (2) Wholesale Trade

(3) Entrepot Trade (4) Import Trade

DTS BTN SO0 GrEBBHS® IIBFASETIE Soffes D09e0008 @) oo
0T,

(1) Jod3g%e  (2) oo (3) some0 58%0 (4) BrH%d %

NTPC is working under

(1) Co-operative sector (2) Public sector

(3) Private sector (4) Joint sector

0.3, 2.0, &4 §08 Solo $ods 59 Biyod

(1) srsssonsn  (2) 588 ot (3) cisefcsom» (4) &S0 Sorsn

A good example of a construction Industry is

(1) L& TCompany (2) ECIL

(3) Murphy Company (4) HMT

AT SOESOE ) FoVAOH 5009 G

(1) L& T2 (2) ECIL (3) 208 %00 (4) HMT

Preference shares are those which carry preference in

(1) Return of capital and dividend (2) Return of capital

(3) Dividend (4) Voting rights and dividend

SRED) T B4 (§00 T3S BIS &5 dotnod ?

(1) Soredsso porexd $060%w &Ja0E (2) sorogsopoad

(3) &k (4) zendanEod’sr, Adaok e
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131. The closing stock is not shown in Trial Balance. The reason is

(1) Because it is not sold (2) No journal entry is passed
(3) Nopaymentis made (4) Included in purchases
S00R0Y) K Do @oserd® JotoHd BIHEoEs
(1) oo epeEss swy (2) Degises; randen e
(3) Do oS> Sve0ed (4) SoRGHE" B sod swed
132. Wages paid towards installation of machinery is shown in
(1) Balance Sheet : (2) Trading Account
(3) Profitand Loss Account (4) None of these
OO AL DOV BT
(1) e enyo 536 Sroosd (2) 3659 Ters’ SrHTH
(3) oo rord’ BrHTd (4) =P
133. Accounting is a language of
(1) Stakeholders (2) Business
(3) Shareholders (4) Investors and creditors
Keas T30 (@F"0e3oR) esx050
(1) $EF s 500 (2) TPvsoera
(3) Terortho 0er (4) exedory $o0aky L00ee S0

134. Credit Balance of Bank column in Cash Book shows
(1) Overdraft (2) Cash deposited in the Bank
(3) Cash withdrawn from the Bank (4) Opening Balance
SIS RO e HENE’ Bled Deg BA KDod ?

(1) e56@R (2) erpnE® AI=eTID S
(3) ergo® Ro0od SRS MM (4) S Cogrd) dex
135. In Double Entry System income is measured on the basis of
(1) Consistency concept (2) Costconcept
(3) Matching concept (4) Business entity concept
2306 3¢ D08’ LA SOBOH VSO eSS
(1) 55 gised (2) Sgo0ersd
(3) 55508505/ e350D g5 (4) o eonis e
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136.

137.

138.

139.

140.

141,

Goodwill Account is classified as

(1) Real Account (2) Nominal Account

(3) Personal Account (4) Suspense Account
m&MmmostmMo

(1) W&o .- (2) Tosrpy e (3) S0 gre (4) oo e

If Assets = Rs 20, 00,000 ; Liabilities = Rs. 18,00,000 ; then what is the capital ?

2.8 0 o'.h)gz, esiien = &5, 20,00,000 ; epeo 6. 18,00,000 ; wowisesand, soredso
Jod ?
(1) 38,00,000 (2) 4,00,000 (3) 1,00,000 (4) 2,00,000

A sale of Rs. 50,000 to Ravi was entered as a sale to Raju. This type of error can
be classified as

(1) Error of omission (2) Compensating error
(3) Error of commission (4) Error of principle

622 &5°. 50,000 e esosen s, Terd esoses esOARERT SATEaB €5 BP0 O GRS
B3PI D58 ?

(1) ego8% (2) 500 &' (3) 3vs&s0 (4) cpow &
A statement in which all the Ledger Accounts balances are shown. It is known as
(1) Balance Sheet (2) Trial Balance

(3) LedgerBook (4) Profit & Loss Account

ST, FTO OO0 B2 IO 30D e0ereh ?

(1) sheosyposds (2) woser ) sSgonssn  (4) owsore
Goods distributed as free samples is debited to

(1) Advertisement Account (2) Charity Account

(3) Purchases Account (4) Goods Account

&8 TORG) 790 SO0 HEKS0 D T BDS I 2

(1) sese gror (2) oowsre (B) Soffwge (4) 00 o
The first stock exchange was set up in India

(1) Calcutta (2) Delhi (3) Chennai (4) Mumbai
EPOB0T0S" 2006300053 P 0D % 5 LT ?

(1) sose (2) ¢ (3) =& (4) =009
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142. Which of the following is not an Input Device ?

(1) Touch screen (2) Optical scanners

(3) Touch pad (4) Plotter

52808 TE" D0 Ko5ead 3SYeT H0Eo 0 ?

(1) &54s . - (2). eRsEIE (3) w5 (4) eb
143. Special Economic Zones (SEZs) have been created in the

(1) ‘EXIM Policy 2002 . (2) EXIM Policy 2000

(3) EXIMPolicy 1991 - (4) None of the above

006 D85 £ (SEZ) rodod.

(1) 20022p% obé’ (2) 200095 ebs®

(3) 1991245 Jobé’ (4) =P

144. Which of the following is not included in the category of intangible assets ?
(1) Patentrights (2) Copy rights (3) Machinery (4) Goodwill
52 (300 T36° DO £:52¢52) ey 2065 O 7

(1) SdeSmes  (2) shpevw (3) avoges (4) 0EIS

145. Inventory is valued at

(1) Cost price (2) Market price

(3) (1) or (2) whichever is higher (4) (1) or (2) whichever is lower
S00N0Y DD Jewd QGO

(1) S50 (2) 557,65 esd

(3) (1) 8o (2) 6° 06 25928 B (4) (1) 8o (2) & 28 %28 &b

146. The company whose managerial headquarters are located in one country, while it
conducts its operations in a number of other countries is called as

(1) MultiNational Company (2) Private Company

(3) Government Company (4) PublicCompany

T DT STGA0 &8 B¥os’ dod IS BFed” T SESTduEs WD oo
0L

(1) 250¥erdod S0 (2) (dew S0

(3) ey Hond (4) 555 %
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147.

148.

149.

150.

Single entry system has the following effect

(1) One sided effect (2) Two sided effect
(3) Three sided effect (4) None of the above
2,063 5653 DTS 480 ©ardo Goeod

(1) 2839 @arso (2) Boco P @erso
() srcopgogerse. (4) #Bsp

Opening stoék =1,00,000 ; purchases = 2,00,000 ; closing stock = 1,00,000 :
sales = 3,00,000. Gross profit/loss = ?

(1) Profit=2,00,000 (2) Gross Profit =1,00,000

(3) Gross Loss =1,00,000 (4) None of these

70085 360 Do = 1,00,000 ; S:50A%) = 2,00,000 ; sohory 555 Jes = 1,00,000 -
esysten = 3,00,000. ST oglo/ S50 = o8 ?

(1) e50=2,00,000 (2) %z oraisn=1,00,000
(3) 3zoszs0n=1,00,000 (4) D9

Which of the following is a liability ?

(1) Cash atbank (2) Bills Receivable

(3) Bills payable (4) Goodwill

&+ 800 738" DO e DodSS 9

(1) opod’sns  (2) sires Daves (3) Wov e (4) 0EIS

Debit what comes in and credit what goes out is the principle of

account.

(1) Personal Account (2) Nominal Account

(3) Trading Account | (4) Real Account
Wﬁ%m&a&d%mmgmmmmm BT DD e5d s

(1) 3o (2) TwosrEy e
(3) 3¢ v (4) >3 re

Course Code -3 [31] (P.T.0.)



